BAE 1S (F4RF1ERR

HHGEE REEAILBR-EX (12A%)

eIEs F M AMUER CHEBEEZ) o
ARLE I% (&%) BE
. BLEES €3
I% &0 % e 2E2 zx2 2E2 2E£2 zE2 2E£2 2E5% 2E£2 #E5% 2E£2
RIE1495
L
FRNEHAEETE (FRERHT) I L=200.0i BET V=173.0m3
R5.12.7 1,313,000 HamEE woHE wIRS wowEs EERTE HESE wmBGE éi P R " HBBESR
(1,155,000) () () () () () () (R ’ (HHREHE)
1,280,000
BIF1615
R An-7 ®EIL=18.37Tm LRiav/)-bTA
THLRITERYFr— (D) o ) . =425m H—F/N47L=200m REEX
R5.1221 |iem - @@ TH 1,853,000 @ﬁi&ﬁr’ﬁ fﬁf»IAzz/wt‘ {7{{/@*1%}3 PE)E*E& T —3t MET CkEmE) —xt {i!i*iﬁﬁﬁ%
(1,702,000) (RERET) [€:3::10) (RERET) (RERET) (A TEAIREE)
1,800,000
RIH1635
wikEE
BriEER - FE)RERA () ) .
Rs1221 |mETE 2,307,000 HaEER HoHE B e HeEEE HEHTH CECY2Y IHR L-300m @HBHH L-290m| wormsm
(2,030,000) (EAT) (REHT) (EAT) (REAT) (REAT) (REAT) (REAT) BUL N=1OWR GHBEHED)
2,240,000
RIEI64S
IS
I L=21.00 Wa y-
RIS, - FHHGHBEOE (READ . N ) e " 55)5:1/7: b
R5.1221 |wETH 2,376,000 HamEs s ) HESE #SHE EEPIH mMBEE CEES: =3 A=46.80m2 HAT RSTOSMBED|  wpwm
(2,090,000 (G000 G100 G300 G300 (A G300 [0 L=1658m RBTLMHBED L=153| (upmpm)
2,320,000 m
> =
ETH165% - IFE L-100m HAT MHHR
T E A SRR (R L-100m WET 1SHE n-10x
R5.12.21 |gerg 2,388,000 B=HRESE HERRIE [ BSHHE L a4 B SHREH 25HE n=1.0% 3S#HE n=1.0R ERRERR
(2,101,000 (R (REm) () () (REE) (R (R WET = A-1l5m2 7Y RI| (HEEBHSD
2,300,000 L=9.7m
EIEI67TS
BHE
BN EETE (R - # 3
R6.12.21 1,969,000 HEAE e e HERTE BEEER wEgEg EamES T HR L2000 m BRI e
V=311.00m3 RET A=742.00m2 _
(1,732,000) (G0 () () () () () () (HIREHER)
1,900,000
EIH1685
GEhTE 1IR I®R L-10400m BRET
R5.1221 | LRNEANERTE 1,609,000 | CREAD) W ERE e #HEAE HoHE B=eER HRERR #mIIBR A=238.00m2 #HTI V-122.00m3 T—
(1,495,000) (ERA) (GEAT) (e (e GERT) (e (GEAT) 2IE I®E L-150.00m BEL|  (upe )
1,650,000 A=313.00m2 ZEI V=122.00m3

KFEMERVRIBHRMEE, ELSEIBREOSHE EH: M) TY,




